S F 4
B E BN ZERE S EFREORKBEAMEI

1E 2 1
X T % 151
éj\
(1) 242
2
(2) 6—4.2
(i) 1 8 f#
(3)
.. 23
(i) =
! 18
(i) 23
3
(4)
(i) 3+2v2 _
3
(1) AEDB ¢AB APIZEWT,
/JEDB =/B AP=90°
/DB E=90° -/AB P=/APB
LoTC, ®METH2MOARZEZNLENELWVDO T,
AEDB »AB AP
AEDB “»ABAPMbL AP=4x(1— 1)
2)| PB=PB »mb AP=%(1—962>
x O _ 1
X=—
7




(1) A
(2) -
B I B < IEA 4. 0 B
(3)
< R ] 9. 7 I
(1) v
(2) | (s A - % - 7 - = (H)
(3) BRIz X > TEIIN D,
(4) A
(1) 7
(2) TUYEZT N7 ITAARNEANTEKRKICE T, 77 A aWOKENR TR
D, E=T—DKPML EFbND056,
@ OO
(1) 7+
(2) 63 cm
(3) @ PE] @) A ® (3]




